Big ldea: Statistics and Probability

Key Vocabulary

Hypothesis, Sampling, Primary Data, Secondary Data,
Discrete Data, Continuous Data, Spread, Average,
Proportion

Suggested websites: Maths Genie, Save My Exams and Corbett Maths
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Big Idea: Statistics and Probability

Suggested websites: Maths Genie, Save My Exams and Corbett Maths

Spread, Average, Total, Frequency, Represent,

Key VVocabulary

Outlier, Consistent.

Identify outliers

Outhers are valles Thal stand well
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Undersiand cnd use meon, medican amnd
mode

Chooze the most appropricte averass
ldestify outhers

Compare distribulions usng overaaes ganad

roae.

a Typedl vae that represents the dala

I
I
I
I 24,84, 118
I
I
I

Find the sum of the data (add the vales) 55

Dwide The overall total by how mary 55 = §

| pieces of dala ucu have

O megsure of average to find the central tendercuy. ..

The. Median

The. value n the center (in the midde) of the data

24,84, 118

Put the data in order 4,88 1,24

The Mode (The. modal value)

This is the rumber O the item that occurs the most (it does not

have to be numerical)

24,84, 118

This can stil be easier § it the data s ordered first

sel as a whele - to check f it 5 an
appropriate. averagg.

data set — so it should be compared to the

Fnd the vabe inthe mdde 4, 8,8/ 1, 24 4 88 |24
NOTE: ff trere is no single midd. Mode. = &
I Median = & value find the mean of the two
1] rumbers left
| F=EF=F = ===
Here are lhe weekly wages of a small firm
Which average best represents
£240 £240 £240 £240 £240 the weekly wage?
£260 £260 £300 £350 £700
Put the data back into context
The Mean = £307 Mear/Median — Leo high (most of the company eam £240)
The Median = £250 Mode s the best average that represents this woge
The Mode = £240 tis kely that the salaries above. £240 are, more, serior staff members — their salary
doesnl represent the average weekly wage of the majority of emplouers
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cprart from the rest of The data

Comparing distributions

wihere cr ouller s
ideritified try Lo auwe L
some cornilexl

This 15 kely Lo be a Lales
member of the aroup
Could The be arn alder
studenl or a leackher?

Cutlers corn have @ big impacl on roange grmd meorn.  a————————
They howe. less mpact on the medicem ond The mode

Height im crm
1S8C820 151 153 149 1S6 160 151 144

152 150 142

o

Picariage on Tumpel ssam
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Sometimes it is
best Lo ol use
e outlier irm
cakeUlatiors

Cuthers cown ako be
idertified araprihically
25 o scaller ayapins

Comparisors should include a statement of overage and certral tendency, as wel as
a statemernt gboul spread ond corssiency

James

e e Ll Tt e

Mean: 296 (1dp), Median: & Mode: no mode, Range: &

Mean: 4 |8 {ldp), Median: 32, Mode: 23, Range: 76

“Jarmes s less consistent that Lucy because s scores have a gredler ronge.
Lucy performed belter on average because her scores have g similr mean and
a higher mediarn”
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Here are the number of runs scored last month by Lucy and Joames in )
crickel matches
Lucu: 45, 32, 37. 4| 48 35
James: 60, 90, 41 23 14, 23
_/
Lucy

James has Two

extreme valbes that

/ have a big impact on

the ronae



